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OA-AEAA N3] Ao A 100,000€1 100
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307 W1zkold 7,500 3,500 4,000
02 RWAFER=E 3,500 3,500 0
OAF L BAMAIE g H] A ¢ 3,500,0009 = 3,500
03 AbsehA| L zH 4,000 0 4,000
OAHIAl A BAEg 93] A 4,000,0009 = 4,000
401 A2 H) 2 Hgin) 15,000 0 15,000
04 Al 15,000 0 15,000
OALBAAE AJA B 15,000,000 = 15,000
1,114 1,114 0
405 AAFH SH] [2 5571
[A] 5571
01 AATLEEFH 50 1,114 1,114 0
OF=w3 Fu 49 1,114,0009) = 1,114
[+ 557]
[A] 5571
29,896 33,898 A4,002
A% T ulelE A 941 = 1918
[= 7,474]
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A EAE ArjvlolE A A [~ 7,474]
29,896 33,898 A4,002
[= 14,948]
101 1714] [= 7,474]
[A] 7,474]
10 71HAEZA S S 29,896 33,898 4,002
OA Y BAF ITdlo]E X YA 29,896,000¢) = 29,896
[= 14,948]
[= 7,474]
[A] 7,474]
8,814 16,314 AT,500
[= 4,407]
AL A s A - .
[A] 3,085]
8,814 0 8,814
[= 4,407]
307 W1zko] A [= 1,322]
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02 WA NHZ 8,814 0 8,814
O EAA B 8,814,0009¢ = 8,814
[ 4,407]
[= 1,322]
[A] 3,085]

62,700 21,200 41,500
AL 8AE Egst (= 10,6001
[A] 52,100]

1,200 1,200 0
301 LRk AdH (= 6001
[A] 6001

10 FAREAN G H 1,200 1,200 0
OA-AEAAL A5 1,200,0009) = 1,200
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[A] 6001

61,500 20,000 41,500
507 W 7bo] A [= 10,0001
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OArZe 143 15,000,000 = 15,000
OFHEALEALX 1,000,000 147 &A% = 14,000
Ol -EA 5,000,000¢ = 5,000

03 AF3| A B 20,000 20,000 0
OALEAAL 2 20,000,0009 = 20,000
[= 10,0001
[A] 10,0001

04 WIZFPAH % 7,500 0 7,500
OAAEALAL o2 H 30,0009 %2507 = 7,500

23,548,391 17,586,813 5,961,578
[ 17,915,064]
17 [7] 307,537]
(= 2,655,882]
[A] 2,669,908]

20,594, 250 15,107,980 5,486,270
Ao [=F  16,409,800]
[= 2,069,225]
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N2BERG [A] 2,115,225]
15,676,250 13,217,474 2,458,776
[  12,541,000]
R Ao
[= 1,567,625]
[A] 1,567,625]
15,226,250 12,774,100 2,452,150
[=  12,181,000]
301 AwkR =
(& 1,522,625]
[A] 1,522,625]
01 A3 R A e 15,226,250 12,774,100 2,452,150
OX%AF 15,226,250
o dnt 15,226,250,000¢) = 15,226,250
[=+  12,181,000]
[= 1,522,625]
[A] 1,522,625]
450,000 443,374 6,626
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307 Wzte] A [A] 45,000]
02 WA HEZ 450,000 443,374 6,626
OAAFH 450,000
oA A 450,000,000 = 450,000
[= 360,000]
[= 45,000]
[~] 45,000]
60,000 28,000 32,000
N2 FA FABE N [ 18,000]
[A] 42,0001
60,000 0 60,000
402 N ZFAFE 0] (= 18,0001
[A] 42,000]
02 W FALH] 60,000 0 60,000
O7z=8grFA T NG (304 ) 60,000,000¢) = 60,000
[= 18,000]
[~ 42,000]
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201 GuF-F ] 6,000 2,400 3,600
01 AFHn] 3,000 2,400 600
O ¥kg8H] 3,000,0009 = 3,000
02 FTTAH 3,000 0 3,000
OAF /4 ¥ 3,000,0009) = 3,000
301 LWrE A 16,000 12,500 3,500
01 ARS|RGA S8 16,000 12,500 3,500
anFIe el Arlodn BwA 20,0001%100% = 2,000
OB AR Gt A& 100,000¢%203] = 2,000
O HAAEAL A H] 500,000 x4 = 2,000
OALES UFT3 A4 10,000,000 = 10,000
4,192,500 1,397,508 2,794,992
(= 3,354,000]
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[ 419,250]
[A] 419,250]
4,032,500 1,237,508 2,794,992
501 Slukn b [= 3,226,000]
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01 A3 R A s= 4,032,500 1,237,508 2,794,992
OF AT 4,032,500
o Uk 4,032,500,000¢ = 4,032,500
[= 3,226,000]
(= 403,250]
[~] 403,250]
160,000 0 160,000
[= 128,000]
402 WFAFE 0]
(= 16,000]
[A] 16,000]
02 WZFA AL H| 160,000 0 160,000
OF A< 160,000
0B 160,000,000¢) = 160,000
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[= 16,000]
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_33_




FAy 5 A g1 9 )
AN 2GR
e R et R A R 4
n 7 3 ol (3 B A Aol AdL:
B ARG (3]A) - AFAG - HA ALl o] AF ol
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[A] 45,750]
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[= 45,750]
[A] 45,750]
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[= 366,000]
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97,500 69,610 27,890
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[A] 9,750]
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[A] 87,1001
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307 F1zkold [= 87,1001
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02 WA HEE 174,200 174,200 0
OAL3| HAAE FAA 7 A 174,200,0009 = 174,200
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AN &9
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307 W1zkeld [= 5,700]
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02 WA HEZ 11,400 10,800 600
OF-ZFAAE FHAR 10 A 11,400,000¢) = 11,400
(= 5,700]
[A] 5,700]
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F-FRAA A7 517 [= 9,000]
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402 FI7FAFE 0] (= 9,000]
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[A] 72,8001
10 71 Z2=AS B 145,600 137,280 8,320
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